| Questions on the recctions of the elements
_andk COM,Oéen&o_C groop e

O a. Aracae  the Bllgwing ions in oder of increasing ionic
|radism: Ba*, Mg, $r?, Ca* [2]

b. State and explan the Ckgggg_s in atomic rodios chich occor
 |with increare in atomic aumber in grep 2 [31

-

C. GWhich of the grojp 7 elements “would e exygect to recck most
' "‘3"“""13} with water gad whg?[s]

_ @Da wek a balaaced equation, with state synbols, o the reaction

belbween - ) ﬁ . »

i) Calciom and oxggea 2]

ii) Calciom oxide and wcd'ef‘('Z]

iii) Calciom hydfoxide solobion and Carben dioide @)




_|b. Despite the greater Fest and seand. ionization energies of
| magaesiom , it agpearS fo Bl much mere yvigorously in Gir thén loariom
,rds’e&;&gg@:&,._q,_a,,gﬁg\gaeﬂm e A

3 1he fv\c(ég eo;n(zs of +he oxides of Fouc Grosp L pnetels are,
_lin ao paticder order, 2430, 2850,3600 and 1920°C. Match
| each oxide of Mg Ca,Sr and Ba withibs correct mdl:«j (o.ne

 land explein Evis order. (6]

@ a. Weite cn equation Lor €he thermal dewmposition of 6 gap]

pibrare, M(NO3)2 (ohere M cepresents a gregp 1 element. Bl

b 4or wh.ch metal in grwp g dae.f Hq.,c /eacémrL Oceul )Ieaﬂ—

eaﬁlq n) most Caﬁ‘q Cﬂ e SRS (e .- S




